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RLmax,i

RLmax,l = Rsa*,ix 1,

) RLmax,i><

50mm>=0.153 + 210mm>0.011 + 105mm>=0.627 + 11mm><

0.158 + 210mm>=0.042 + 50mm>=0.01 = 86.853mm

RLmax,i

So —m So —
O So Smax
Smax
(ex) So 50 (mm) X So Smax 50 86.853 0.576

—» Ruimax,i><XA

RLi—— Rsa,i= RLi/ L,i

Rsa,i



Table

Table

Table

f1 Rsa* fsa
0.0 50.0 1.0
0.15 300.0 0.6
0.25 150.0 1.0
0.6-0.9 55.0 1.0
** f1 Rsa
153% 0.0 50
1.1 0.3 300
62.7 0.3 50
150
15.8 0.80 55
4.2 0.30 300
1.0 0.00 50
.6-54
10.4 12.6 %
82.7 79.9

fsa
1.0
1.0
1.0

1.0
1.0
1.0

50
210
35
105
11
210
50



